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2 = 2xy 37 + 20 - 2y - 3& AFRGHA?

O (x-y=-3)(x-y+1) @ (x+2y+3)(x-y-1)
@ x-y+3)x-y-1) @ (x-2-3)(x-y-1)
® (x=y+3)(x—2y+1)

B

Zol4 412 xo] Be) Felak
x4+ (2-2)x+y*-2y-3
=+ (2-2)x+(+1)-3)
=x-0+DHx-0-3))
=(x-y-Dx-y+3)




abc+ab+ac+a+bc+b+c+1

@ (@a-1)(b-1)(c+1) @ (a+1)(b-1)(c-1)
@ a+1)b+1)(c+1) @ (a-1)(b+1)(c-1)
® (a-1)(b-1)(c-1)

B

abc+ab+ac+a+bc+b+c+1
=albc+b+c+1)+ (bc+b+c+1)
=(a+1)(bc+b+c+1)
=(a+1)(b+1)(c+1)
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@(x—y—4)(x—y—1) @ (x_y+4)<x_y+1)
@ (x+y+4)(x+y+1) @ (x+y-4)(x+y-1)

® (x-y-4)(x-2y-1)

x2 = 2xy + y* - bx + by + 4
= (x=y)? = 5(x—-y) +4
=x-y-4)(x-y-1)




10. [a, b, o] = (a=b)(a=c) =t L W, [a, b, ] = [b, a, ] 5 A3,
(xa+yb+zc)(pa+gb+re) oItk Ol W, x+y+z+p+q+r 9
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@ -1 @ 3 (@)0 @ 2 © -2
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(a=b)la-c)—(b—a)(b-rc)
=(a=-b)(a=c)+ (a-b)(b-c)
=(a=-b){(a-c)+(b-c)}
=(a-b)(a+b-2c)
SLx+ytz+ptqgtr
=14+(-1)4+0+1+1+(-2)=0
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@D x(x+2y)(x—2y) (@)Zx(x +2y)(x = 2y)
® 2(x+ 2y)(x-2y) @ 2x(x+2y)(x-y)

® 2x(x+y)(x—2y)

2x3 — 8xy? = 2x(x? — 4y?)
— 2x(x+ 29)(x - 2)
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@ (3ax-3y)* @ 32(3ax - 4ay)*

® 3a(3%ax — 4ay)? @3a(3x + 2y)(3x = 2y)

® 3(9ax* - 4ay?)

27ax? — 12ay? = 3a(9x? — 4y?)
= 3a(3x + 2y)(3x — 2y)




